AQA C1b Atomic structure and the periodic table

Triple Chemistry
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Elements used
Before the to be arranged Early periodic tables were incomplete. Some
discovery of in order of elements were placed in inappropriate groups if the
" protons atomic weight strict order of atomic weights was followed
<
) Mendeleev
o 2 left gaps for Elements with properties predicted by Mendeleev
€ * What did elements that were discovered and filled in the gaps. Knowledge
[TS) . . )
€ 5|| Mendeleev do? hadn’t been of isotopes explained why order based on atomic
oy ,g discovered yet weights was not always correct
q>" Dq-J Elements with
8 Now, elements similar Elementsin the same group have the same number
are arranged in properties are of outer shell electrons and elements in the same
order of atomic in columns period (row) have the same number of electron
number called groups shells
= They are very reactive with oxygen, They only have 1 electron in their outer shell.
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5 Compared to Group 1 metals, the transition metals | Cu?*is blue
9= are less reactive, harder, denser and have higher Ni%* is pale green and is a catalyst
T‘: f_c-; melting points for the hydrogenation of fats
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